8H4H () 4TI VIZATIVA {DIFR)

RIS R—FAVR> Sy
3
<FEU-J> Aot
Jovyi 1 2 3 4 [:Tivs 316
1. A& -/ \FK
6-30| 4-6%X|3-6%X| 3
(ovU-) 1(6 516
2. FAMESR 5-6%X|5-6X| 4
(JY—-HNERE)
. FeHE 14 ey ey B
3 ?—F\\# 6_a0le-so 630 1 1-1411 2-24i1 1-2411 2-141
(5955) - . s
4 BUER | Lol 50| 3 6x 2 & = . -
(OB~ HIAEE) i H L1 =
Jovs2 5 6 7 8 NE4SE H ili ri] =
5. B4 + =0 |2 AR
6-20|5-6X|6-30 2
(JvU-)
6. FEH - BEIR
2 -6X 5-6X|3-6X| 4
(ipE ) R e B
7. E== Bhs &xR-=AK (SA9YN)\FT)
_ 6-50|6-50 6-50| 1
(SRAYN-)\FT7)
8. HAEE 1. cxle-30|5-6x 3
(F-) Bl -FE8 (JU-)

b MEEASPEE



